B FiE 2

BN LR P e &5

dU AR AL 2 =

T H e Al

ég'fﬂz e R BT

FH = %7

B 43w N B Y R

ApP ey (0P ueirg gz 04 ¢ M g02
BN

O #7002 bx70% 2% 705K T OB T 257

2T > T
G

M¢ ~ Or -~

R

v 4 Oespd 3 03~ M O Oarasfe s
#* 3 O ™ (Beginning) M- & (Some) ~ I %

EEEE

A 2% 3 > 2NN [
ER A W £ TN <

¥ (Experienced) s 3 .

—j‘;rsj - ER e - F %I
4¢P RIFE o T E gtk e
ranEF v IR
S L IRt
P g OF -

=
ﬁz—ziwﬁé’iwﬁ&%%\
SERRESE 2
ﬁﬁﬁﬂilﬁﬁﬁﬁﬁfbﬁﬁiﬂW$$@4&&7ﬂﬂiﬁ%
B ,’\:"u;ﬁd PR FTERELRL o

,_
Rk
& | ==
-

o

~=h

ﬁ%ﬂﬁi4ﬁ;mm?%w %1@9mﬁ&%@$%uW¢ﬁﬁi§
()

B U/J~§i::)"'§§;l’f+_%gﬁ—r $74 097 gRL W
@M F ) %‘E\-ﬁ-"‘?ﬂ"?

3-B.IP 2 ch | 3 5 R A BT B S fofi vt § 9

SHRBIGE T S A R R B P

F;:(? ﬁli@bgi:rﬂ"%:"%‘ﬁ; s 4F B oRm e 9

L

AR TIRE 3 X auz3 | QR BT ImE e~ 3l

o) § i

) ]‘F’ < 'f&l; Fé’:m"" :]‘%K[J‘

v P R e ik G PR

?SW¢W§%§“@Q%M’%¥§1¢J4§§&@a_
8-S. ¥ P2 FF A v 33 1 %‘?pé% - m,b,r
9-S. P = g 45 5 A 3
W E W~ 423 5‘3 V4 LE'FE":VT’FF’ >0 'Tim@%{li - 9
10-E. 1 B&Fahie 45 3 &tz {3
11-E. 5 # Afe < g /A3 J7Rig ] &+
B A ?
X b R
a3

Hr) W3 e
LG R VE PR
2SI SER PR KL D

AFREFFRELRFERIZIBALRER G L L SR &




